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QUESTION L.Let @, = (1,2,4,-4),Q2 = (~1,-1,-4,4),Q3 = (-2,-4,-7,8),Qs = (2,4,8,-8). Determine
whether (), ..., Q4 are independent or dependent by solving the corresponding homogenous system(i.e., wrilte down the
solution set for the corresponding homogeneous system). SHOW THE WORK
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QUESTION 1. Find the solution set of the following homogeneous syslem
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QUESTION 3.1s D = {(2.5 5y.—y,3:+ 7z +y,20) | y, 2 € Rand = > 0} a subspace of R*. Justify your answe\‘x}
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QUESTION 4, Let D be a subset of 2* that consists of all points in the second quadrant and all points in the fourth

quadrent including the x-axis and y-axis. Is D a subspace of R?? Justify your answer.
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QUESTION 1. Let F = {(a+3c—d, —a+b, c+2d, 2a —2b, 0) | a,b,c,d € R}. Then we know that F is a subspace
of R®. Find IN(F)(i.e.,dim(F)) and find a basis for F.
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QUESTION 2. Let F = {(a + 26, —c + 3b, 2a 4 4b, w)}w~6b+2c=0 anda,b,ce R} Then we know @PF)
a subspace of R*. Find IN(F)(i.e.,dim{F)) and find a basis for F.
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QUESTION 1. Find the solution set of the following homogeneous system, call it F. Write £ as a span of independent
pomts Then find an orthogonal basis for or F. T
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QUESTION 1.Let A = 2 4 9 gl Is 3 an eiginvalue of 47 if yes, then find E;. Find IN(E3) (ie.,
I 2 2 9

dlm(Eg)) Write E'3 as span of onhogonal basis.(you may finish on the back)
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